N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[} C T T T N T ] C T T T T
Q@ : : : [ e i o : : : :
S : : : L O O SO £ : : : :
| I SRR S R g 8 bt e
= E - : : : 3 : = E s S :
> F : : : 3 = F N
S i : : : 5 S i : :
g r : : : § """""""""" E r - "
10% e Feeeeeeeed b PR x 10° 103 et T R e
F : A F : =
e P TR L. : . \
: : R e T : : :
103 ------------ ------------- L RREEEETE 10 102" oo EREPIREE GEPEPERE A RPPPR SRTRRRS
E : : -~ : : E, oot : : :
; P e HE i R 0 ++M++"
- . S : R N R R EX L N F R . TETT TR - :
Lk e D [[ITE : : b
10" " — — Har-phase -TrewheoT -
° l_W: i — ) —8Ixe| : gm a%gﬁ?ft) dzbé&%r@éqsstgifﬁ% .?pprﬂasel-qewgeom _ ] ] _ ] a I L
: TR 141 A 111 e 1 1
= ik 1l l-l||||||| . e ELLE | : | gl
r TR T 1
0.95 L d of 0.95 i i i

102 16—1 1 10 102 Oio—z 16—1 10 102 =30 —2I0 -10 0 1b Zb 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)

| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
2 n 2
o Q o
= [3} =
° = °
2 & 8
(S} (S}
(o))

£ 10°E = 5
(2] X %]
c Q c
8 g 8
o] = o]
o @

10k

1Ht

o =) 3=
© 1t 43 - 44 23 T T
v o o

0.91H -

08 j ; ; ; ;

=30 -20 -10 0 10 20 30

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


